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Gurudas College
Zoology- General

Paper- GE2/CC2
Full Marks: 60 Time: 2 hrs. 30 mins.

The figuresin the margin indicate full marks.
Candidates are required to give their answersin their own words as far as practicable.

PART- A

Answer any twenty five of the following: 25x2=350

Write the types of placenta based on example shape and contact points.
What is uropygial gland?
Write the types of teeth.
What four functions of air sacs in birds?
List four uses of integument.
Define fertilization and cleavage.
Name the hardest part in human body. What is that made up of?
Define Homodont with example.
According to replacement or succession teeth can be divided how many types?
. Write the dental formula in humans and Cavia sp.
. What is a diastema? Give example.
. What are the four parts of ruminant stomach.
. Define spermiogenesis and spermatogenesis.
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. What do you mean by milk teeth?

. What is septal gills and opercular gills?

. Name one insectivorus and sanguinivorus animal.

. What is holobranch gill? Give example.

. What do you mean by accessory respiratory organ?
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. Name four pair of major paired air sacs.

. Define simplex uterus.

. What is archinephric duct?

. What is meant by cloaca?

. What is meant by foramen ovale? What happens to the same at birth?
. What is a venous heart?

. Name the two portal system found in vertebrates.

. What is ductus caroticus?

. Which aortic arch is predominant in Birds and Mammals respectively?
. Define double circuit heart.

. Write four difference between artery and vein.

. What are down feathers?

. What is sebaceous gland?

. What do you mean by pterylae?

. List the parts of nephron.
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. What is meant by Uricotelic animals. Give examples?
. What is the function of Macula densa?
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PART-B
Answer any ten of the following: 10x 1=10

A. Feathers that are found at the base of beak in birds are called
1) Down feathers
ii) Filoplumes
iii) Vibrissae
iv) Bristles
B. Spurs are found in
i) Male birds
ii) Female birds
iii) Both of them
iv) None of the above
C. Lophodont dentition is found in
1) Tiger
ii) Humans
iii) Elephants
iv) Rat
D. Rennet is found in
1) Rumen
ii) Reticulum
iii) Omasum
iv) Abomasum
E. External gills are found in
i) Scoliodon
ii) Axolotl larva
iii) Rohu fish
iv) Tilapia fish
F. Foramen of panizza is found in
1) Snakes
ii) Crocodile
iii) Turtles
iv) Garden lizard
G. Loop of Henle is longest in
i) Aquatic animals
ii) Desert animals
iii) Arboreal animals
iv) All of the above
H. Which of the following group is Ureotelic
1) Mammals
i) Birds
iii) Reptiles
iv) Pisces

I.  Metanephric kidney is present in
1) Lion
ii) Toad
iii) Rohu fish



iv) Hagfish
Counter current mechanism takes place in
i) Proximal convoluted tubule
i) Loop of Henle
iii) Distal convoluted tubule
iv) Collecting duct
. Duplex Uterus is found in
i) Elephants
ii) Humans
iii) Pigs
iv) All of them
Pulmonary artery carries
i) Oxygenated blood
ii) Deoxygenated blood
iii) Both 1) and ii)
iv) None of the above
. Deepest layer of epidermis is called
i) Stratum basale
ii) Stratum corneum
iii) Dermis
iv) Stratum lucidum
. Feathers develop from
1) Tactile feathers
ii) Feather sheath
iii) Dermal papilla
iv) Root

. Sertoli cells are found in

i) Ovary
ii) Testis
iii) Heart
iv) Lungs
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